“FRAPPY”

' ) The following problem is taken from an actual Advanced Placement Statistics Examination.
N Revlew Your task is to géherate a complete, concise sttistical response in 15 minutes. You will be graded
e based on the AP tilliric and will earn a score of 0-4. After grading, keep this problem in your
: ' S ecti on 9 3 binder foryour AP Bxam preparation.
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A bridal gown industry publication claims that nationwide the
average amount spent for a wedding gown is $1,012. A local bridal
shop in an wban community has noticed their more expensive
gowns are not selling well. Instead, the brides seem to be selecting
only lower priced gowns or clearance gowns. The shop wonders if
the average amount spent for a wedding gown is less than $1,012
for their customers. To investigate, they selected a random sample
of 50 wedding gown sales. They found a sample mean of $985 and

. a standard deviation of $235.

Scormg: Is there convincing evidence that the average amount spent on
a wedding gown at this shop is less‘than the national figure? Test
the relevant hypotheses using al0.05 significance level] o{=.95

@ E P 1 (A usthedve denbanatinwide of o we dding dress

Het L= Plorz
Ha: AL & $roiz
5 EE) Bl 2 sample +4est for means
ConD ITionS ddine qowsns ot Phis shop

Random: S5 n= 5o we
ﬂ-l-nJepenJen-\-: I+ is Teasoncile +his shop has
Movre, thea (lo“s“) Soo kJCClé'ﬂ Arc.5$¢;+u$¢ 1\

@ E P I Normal: Sice “Hhe 5tmpl¢. i5 lee Soy306
CLT Soys the normel oo dibion s met
e} Semple
n=6§0 X=Q%S Sx=93§ e
_, 9N
4o A9 -po \
35 i ¥
‘ /\)’57’- T lo':z
. X=a%y
+= -9\
P\!a\ue. = p(t 4-’%05“2““

E‘EP

@ Since dhe ?Uclue (,.‘Jloq) Is Greater Yhea 0(-7.051 we Larl +o
feject the null hy ‘::o*H\c s1g, T HERE 1S NOT (CoN vl‘Ncina_

euUidence that ~the avepa cemount oF o we_ééma
Total: /4 %c“*ﬁ" et tHhis Shop 1y less Yhan the

natonal O\ver‘a.a_a_ o+ $1,01a.



“FRAPPY"”
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based on the AP rubric and will earn a score of 0-4. After grading, keep this problem in your binder
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A bridal gown industry publication claims that nationwide the
average amount spent for a wedding gown is $1,012. A local bridal
shop in an urban community has noticed their more expensive
gowns are not selling well. Instead, the brides seem to be selecting
only lower priced gowns or clearance gowns. The shop wonders if
the average amount spent for a wedding gown is less than $1,012
for their customers. To investigate, they selected a random sample
of 50 wedding gown sales. They found a sample mean of $985 and
. a standard deviation of $235.

Scormg: Is there convincing evidence that the average amount spent on
a wedding gown at this shop is less than the national figure? Test
the relevant hypotheses using a 0.05 significance level.
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